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QUESTION 1

Given the following two tables:

NAMES

NAME NUMBER

Wayne Gretzky 99 Jaromir Jagr 68 Bobby Orr 4 Bobby Hull 23 Brett Hull 16 Mario Lemieux 66 Mark Messier 11
POINTS

NAME POINTS

Wayne Gretzky 244 Jaromir Jagr 168 Bobby Orr 129 Brett Hull 121 Mario Lemieux 189 Joe Sakic 94

Which of the following statements will display the player name, number, and points for all players that have scored
points?

A. SELECT p.name,n.number, p.points FROM names n INNER JOIN points p ON n.name =

B. name

C. SELECT p.name,n.number, p.points FROM names n LEFT OUTER JOIN points p ON n.name = p.name
D. SELECT p.name,n.number, p.points FROM names n RIGHT OUTER JOIN points p ON n.name = p.name
E. SELECT p.name,n.number, p.points FROM names n FULL OUTER JOIN points p ON n.name = p.name

Correct Answer: C

QUESTION 2

Given the following table and XML data stored in the CONTACTINFO column:
CREATE TABLE clients(

id INT PRIMARY KEY NOT NULL,

name VARCHAR(50),

status VARCHAR(10),

contactinfo XML)

25 EastCreek

Latest C2090-730 Dumps | C2090-730 Practice Test | C2090-730 Exam Questions 2/5


https://www.passapply.com/c2090-730.html
https://www.passapply.com/c2090-730.html
https://www.passapply.com/c2090-730.html

VCE & PDF https://lwww.passapply.com/c2090-730.html|
2024 Latest passapply C2090-730 PDF and VCE dumps Download
PassApply.com

Toronto
Ontario

M8X-3T6

4165551358
9051112222

9051112222

by fax

What is the result of the following XQuery expression?

for $y in db2-fn:xmicolumn(\W'CLIENTS.CONTACTINFO\)/Client//fax return $y
A. 9051112222

B. 9051112222

C. No results because there is no child element of

D. No results because theXQuery expression is not a valid FLWOR expression

Correct Answer: B

QUESTION 3

A declared temporary table is used for which of the following purposes?
A. Backup purposes

B. Storing intermediate results

C. Staging area for load operations

D. Sharing result data sets between applications

Correct Answer: B
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QUESTION 4
In which of the following scenarios would a stored procedure be beneficial?

A. An application running on a remote client needs to be able to convert degrees Celsius to degrees Fahrenheit and
vice versa

B. An application running on a remote client needs to collect three input values, perform a calculation using the values
provided, and store the input data, along with the results of the calculation in two different base tables

C. An application running on a remote client needs to track every modification made to a table that contains sensitive
data

D. An application running on a remote client needs to ensure that every new employee that joins the company is
assigned a unique, sequential employee number

Correct Answer: B

QUESTION 5

57 Given table T1 has column I1 containing the following data: 11
If the following sequence of SQL statements is applied within a single unit of work:
UPDATE t1 SETil=3WHERE i1=2;S

AVEPOINT s1 ON ROLLBACK RETAIN CURSORS;

UPDATE t1 SET i1 =5 WHERE i1 = 3;

SAVEPOINT s2 ON ROLLBACK RETAIN CURSORS;

INSERT INTO t1 (i1) VALUES (6);

ROLLBACK TO SAVEPOINT s1;

UPDATE t1 SET i1 =2 WHERE i1 = 4;

COMMIT;

What is the expected sequence of values returned from?
SELECT i1 FROM t1 ORDER BY il

A 1,233

B.1,2,2,4

C.1,23,3,6

D.1,2,2,5,6

Correct Answer: A
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